

# Approximate Solutions Of The Forced Duffing Equation With Mixed Nonlinearities\*

Bashir Ahmad<sup>†</sup>, Badra Salah Alghamdi<sup>‡</sup>

Received 1 February 2008

## Abstract

In this paper, an improved form of the generalized quasilinearization technique is developed to obtain a monotone sequence of approximate solutions converging uniformly and quadratically to a unique solution of the forced Duffing equation involving mixed nonlinearities with periodic boundary conditions.

## 1 Introduction

The monotone iterative technique coupled with the method of upper and lower solutions [1-7] manifests itself as an effective and flexible mechanism that offers theoretical as well as constructive existence results in a closed set, generated by the lower and upper solutions. In general, the convergence of the sequence of approximate solutions given by the monotone iterative technique is at most linear [8-9]. To obtain a sequence of approximate solutions converging quadratically, we use the method of quasilinearization [10]. This method has been developed for a variety of problems [11-20]. In reference [21], a generalized quasilinearization technique was developed for Duffing equation with periodic boundary conditions. Duffing equation is a well known nonlinear equation of applied science which is used as a powerful tool to discuss some important practical phenomena such as periodic orbit extraction, nonuniformity caused by an infinite domain, nonlinear mechanical oscillators, etc. Another important application of Duffing equation is in the field of the prediction of diseases.

The purpose of this paper is to study an extended form of the generalized quasilinearization method for a periodic boundary value problem involving the forced Duffing equation with mixed type of nonlinearities. Precisely, we obtain a sequence of approximate solutions converging monotonically and quadratically to a unique solution of the following problem

$$-u''(x) - ku'(x) = f(x, u(x)), \quad x \in [0, \pi], \quad (1)$$

---

\*Mathematics Subject Classifications: 34B10, 34B15.

<sup>†</sup>Department of Mathematics, Faculty of Science, King Abdulaziz University, P.O. Box. 80203, Jeddah 21589, Saudi Arabia

<sup>‡</sup>Department of Mathematics, Faculty of Science, King Abdulaziz University, P.O. Box. 80203, Jeddah 21589, Saudi Arabia

$$u(0) = u(\pi), \quad u'(0) = u'(\pi), \tag{2}$$

where  $f \in [0, \pi] \times R \rightarrow R$  is continuous and is allowed to admit a decomposition of the form

$$f(x, u) = h(x, u) + g(x, u).$$

Here, we assume that  $(h(x, u) + M_1 u^2)$  is convex for some  $M_1 > 0$  and instead of requiring the convexity/concavity assumption on  $g(x, u)$ , we demand a less restrictive condition on  $g(x, u)$  namely,  $[g(x, u) + M_2 u^{\epsilon+1}]$  satisfies a nondecreasing condition for some  $M_2 > 0$  and  $\epsilon > 0$ .

## 2 Preliminaries

We observe that the homogeneous periodic boundary value problem

$$-u''(x) - ku'(x) - \lambda u(x) = 0, \quad x \in [0, \pi],$$

$$u(0) = u(\pi), \quad u'(0) = u'(\pi),$$

has only the trivial solution if and only if  $\lambda \neq 4n^2$  for  $k = 0$  and  $\lambda \neq 0$  for  $k \neq 0$  for all  $n \in \{0, 1, 2, \dots\}$ . Consequently, for these values of  $\lambda$ , the solution  $u(x)$  of (1)-(2) can be written by Green's function method as

$$u(x) = \int_0^\pi G_\lambda(x, y) f(y, u(y)) dy, \tag{3}$$

where  $G_\lambda(x, y)$  is the Green's function given by

$$G_\lambda(x, y) = \begin{cases} \gamma_1 \left[ \sinh \left( \frac{\sqrt{k^2 - 4\lambda}(\pi - (y-x))}{2} \right) + e^{-\frac{k}{2}\pi} \sinh \left( \frac{\sqrt{k^2 - 4\lambda}(y-x)}{2} \right) \right], & 0 \leq x \leq y, \\ \gamma_1 \left[ \sinh \left( \frac{\sqrt{k^2 - 4\lambda}(\pi - (x-y))}{2} \right) + e^{\frac{k}{2}\pi} \sinh \left( \frac{\sqrt{k^2 - 4\lambda}(x-y)}{2} \right) \right], & y \leq x \leq \pi, \end{cases}$$

for  $\lambda < \frac{k^2}{4}$  and

$$G_\lambda(x, y) = \begin{cases} \gamma_2 \left[ \sin \left( \frac{\sqrt{4\lambda - k^2}(\pi - (y-x))}{2} \right) + e^{-\frac{k}{2}\pi} \sin \left( \frac{\sqrt{4\lambda - k^2}(y-x)}{2} \right) \right], & 0 \leq x \leq y, \\ \gamma_2 \left[ \sin \left( \frac{\sqrt{4\lambda - k^2}(\pi - (x-y))}{2} \right) + e^{\frac{k}{2}\pi} \sin \left( \frac{\sqrt{4\lambda - k^2}(x-y)}{2} \right) \right], & y \leq x \leq \pi, \end{cases}$$

for  $\lambda > \frac{k^2}{4}$ , where

$$\gamma_1 = \frac{2e^{-\frac{k}{2}(x+\pi-y)}}{\sqrt{k^2 - 4\lambda} \left( 2e^{-\frac{k}{2}\pi} \cosh \left( \frac{\sqrt{k^2 - 4\lambda}\pi}{2} \right) - 1 - e^{-k\pi} \right)},$$

$$\gamma_2 = \frac{-2e^{-\frac{k}{2}(x+\pi-y)}}{\sqrt{4\lambda - k^2} \left( 1 + e^{-k\pi} - 2e^{-\frac{k}{2}\pi} \cos \left( \frac{\sqrt{4\lambda - k^2}\pi}{2} \right) \right)}.$$

We note that  $G_\lambda(x, y) > 0$  for  $\lambda < 0$  and  $G_\lambda(x, y) \leq 0$  for  $\frac{k^2}{4} < \lambda \leq \frac{k^2}{4} + 1$ .

We say that  $\alpha \in C^2([0, \pi])$  is a lower solution of (1)-(2) if

$$\begin{aligned} -\alpha''(x) - k\alpha'(x) &\leq f(x, \alpha(x)), \quad x \in [0, \pi], \\ \alpha(0) &= \alpha(\pi), \quad \alpha'(0) \geq \alpha'(\pi). \end{aligned}$$

Similarly,  $\beta \in C^2([0, \pi])$  is an upper solution of (1)-(2) if

$$\begin{aligned} -\beta''(x) - k\beta'(x) &\geq f(x, \beta(x)), \quad x \in [0, \pi], \\ \beta(0) &= \beta(\pi), \quad \beta'(0) \leq \beta'(\pi). \end{aligned}$$

We state the following results to prove the main result. We do not provide the proof of these results as it is based on the standard arguments [1, 11, 12].

**THEOREM 1.** Assume that  $\alpha, \beta \in C^2[0, \pi]$  are respectively lower and upper solutions of the boundary value problem (1)-(2). If  $f(x, u)$  is strictly decreasing in  $u$  for each  $x \in [0, \pi]$ , then  $\alpha(x) \leq \beta(x)$  for  $x \in [0, \pi]$ .

**THEOREM 2.** Suppose that  $\alpha, \beta \in C^2([0, \pi])$  are lower and upper solutions of (1)-(2) respectively such that  $\alpha(x) \leq \beta(x)$  for all  $x \in [0, \pi]$ . Then there exists at least one solution  $u(x)$  of (1)-(2) such that  $\alpha(x) \leq u(x) \leq \beta(x)$  for  $x \in [0, \pi]$ .

### 3 Main Result

**THEOREM 3.** Assume that

- (A<sub>1</sub>)  $\alpha, \beta \in C^2([0, \pi])$  are lower and upper solutions of (1)-(2) respectively such that  $\alpha(x) \leq \beta(x)$  for all  $x \in [0, \pi]$ ;
- (A<sub>2</sub>)  $h_u(x, u), h_{uu}(x, u)$  exist, are continuous with  $h_{uu}(x, u) + 2M_1 \geq 0$  for all  $(x, u) \in \Omega$ , where  $\Omega = \{(x, u) \in R^2 : x \in [0, \pi], \alpha(x) \leq u(x) \leq \beta(x)\}$ ;
- (A<sub>3</sub>)  $g_u(x, u)$  exists and satisfy

$$\{[g_u(x, u) + (1 + \epsilon)M_2u^\epsilon] - [g_u(x, v) + (1 + \epsilon)M_2v^\epsilon]\}(u - v) \geq 0, \quad \epsilon > 0;$$

- (A<sub>4</sub>)  $h_u(x, u) + g_u(x, u) < 0$  for all  $x \in [0, \pi]$ .

Then there exists a monotone sequence  $\{\alpha_n\}$  which converges uniformly and quadratically to a unique solution of (1)-(2).

**PROOF.** For any  $u \geq v$ , it follows from (A<sub>2</sub>) and (A<sub>3</sub>) that

$$h(x, u) + g(x, u) \geq G(x, u, v), \quad G(x, u, v) = h(x, u) + g(x, u) \quad (4)$$

where

$$\begin{aligned} G(x, u, v) &= h(x, v) + [h_u(x, v) + 2M_1v](u - v) - M_1(u^2 - v^2) \\ &\quad + g(x, v) + [g_u(x, v) + (1 + \epsilon)M_2v^\epsilon](u - v) - M_2(u^{1+\epsilon} - v^{1+\epsilon}). \end{aligned} \quad (5)$$

Further, in view of  $(A_4)$ , it follows that  $G_u(x, u, v) < 0$  for each fixed  $(x, v) \in [0, \pi] \times \mathbb{R}$ . Now, we set  $\alpha_0(x) = \alpha(x)$  and consider the problem

$$-u''(x) - ku'(x) = G(x, u(x), \alpha_0(x)), \quad x \in [0, \pi], \tag{6}$$

$$u(0) = u(\pi), \quad u'(0) = u'(\pi). \tag{7}$$

In view of  $(A_1)$ , (4) and (5), we have

$$-\alpha_0''(x) - k\alpha_0'(x) \leq h(x, \alpha_0(x)) + g(x, \alpha_0(x)) = G(x, \alpha_0(x), \alpha_0(x)), \quad x \in [0, \pi],$$

$$\alpha_0(0) = \alpha_0(\pi), \quad \alpha_0'(0) \geq \alpha_0'(\pi),$$

$$-\beta''(x) - k\beta'(x) \geq h(x, \beta(x)) + g(x, \beta(x)) \geq G(x, \beta(x), \alpha_0(x)), \quad x \in [0, \pi],$$

$$\beta(0) = \beta(\pi), \quad \beta'(0) \leq \beta'(\pi),$$

which imply that  $\alpha_0(x)$  and  $\beta(x)$  are lower and upper solutions of (6)-(7) respectively. Hence, by Theorems 1 and 2, there exists a unique solution  $\alpha_1(x)$  of (6)-(7) such that  $\alpha_0(x) \leq \alpha_1(x) \leq \beta(x)$  for  $x \in [0, \pi]$ .

Next, consider the problem

$$-u''(x) - ku'(x) = G(x, u(x), \alpha_1(x)), \quad x \in [0, \pi], \tag{8}$$

$$u(0) = u(\pi), \quad u'(0) = u'(\pi). \tag{9}$$

Using (4) and (5) together with the fact that  $\alpha_1(x)$  is a solution of (6)-(7), we obtain

$$\begin{aligned} & -\alpha_1''(x) - k\alpha_1'(x) = G(x, \alpha_1(x), \alpha_0(x)) \\ & \leq h(x, \alpha_1(x)) + g(x, \alpha_1(x)) = G(x, \alpha_1(x), \alpha_1(x)), \quad x \in [0, \pi], \\ & \quad \alpha_1(0) = \alpha_1(\pi), \quad \alpha_1'(0) = \alpha_1'(\pi), \\ & -\beta''(x) - k\beta'(x) \geq h(x, \beta(x)) + g(x, \beta(x)) \geq G(x, \beta(x), \alpha_1(x)), \quad x \in [0, \pi], \\ & \quad \beta(0) = \beta(\pi), \quad \beta'(0) \leq \beta'(\pi). \end{aligned}$$

Thus it follows that  $\alpha_1(x)$  and  $\beta(x)$  are respectively lower and upper solutions of (8)-(9). Again, by Theorems 1 and 2, there exists a unique solution  $\alpha_2(x)$  of (8)-(9) such that

$$\alpha_1(x) \leq \alpha_2(x) \leq \beta(x), \quad x \in [0, \pi].$$

Continuing this process successively, we obtain a monotone sequence  $\{\alpha_n(x)\}$  satisfying

$$\alpha_0(x) \leq \alpha_1(x) \leq \dots \leq \alpha_n(x) \leq \beta(x), \quad x \in [0, \pi],$$

where  $\alpha_n(x)$  is the unique solution of the problem

$$u''(x) - ku'(x) = G(x, u(x), \alpha_{n-1}(x)), \quad x \in [0, \pi],$$

$$u(0) = u(\pi), \quad u'(0) = u'(\pi).$$

Since the sequence  $\{\alpha_n(x)\}$  is monotone, it follows that it has a pointwise limit  $u(x)$ .

To show that  $u(x)$  is in fact a solution of (1)-(2), we note that  $\alpha_n(x)$  is a solution of the following problem

$$-u''(x) - ku'(x) - \lambda u(x) = \psi_n(x), \quad x \in [0, \pi], \quad (10)$$

$$u(0) = u(\pi), \quad u'(0) = u'(\pi), \quad (11)$$

where  $\psi_n(x) = G(x, \alpha_n(x), \alpha_{n-1}(x)) - \lambda \alpha_n(x)$  for every  $x \in [0, \pi]$ . Since  $G(x, u, v)$  is continuous on  $\Omega$  and  $\alpha_0(x) \leq \alpha_n(x) \leq \beta(x)$  on  $[0, \pi]$ , it follows that  $\psi_n(x)$  is bounded in  $C[0, \pi]$ . Thus,  $\alpha_n(x)$ , the solution of (10)-(11) can be written as

$$\alpha_n(x) = \int_0^\pi G_\lambda(x, y) \psi_n(y) dy. \quad (12)$$

Since  $[0, \pi]$  is compact and the monotone convergence of the sequence  $\{\alpha_n(x)\}$  is point-wise, it follows by the standard arguments (Arzela Ascoli convergence criterion, Dini's theorem [1, 12]) that the convergence of the sequence is uniform. Thus, taking the limit  $n \rightarrow \infty$  in (12) yields

$$u(x) = \int_0^\pi G_\lambda(x, y) [h(y, u(y)) + g(y, u(y)) - \lambda u(y)] dy, \quad x \in [0, \pi].$$

Thus,  $u(x)$  is a solution of (1)-(2). Now, we prove that the convergence of the sequence is quadratic. For that, setting  $e_n(x) = u(x) - \alpha_n(x) \geq 0$ ,  $n = 1, 2, 3, \dots$  and  $P(x, u(x)) = h(x, u(x)) + g(x, u(x)) + M_1 u^2(x) + M_2 u^{1+\epsilon}(x)$ , we obtain  $e_n(0) = e_n(\pi)$ ,  $e'_n(0) = e'_n(\pi)$  and

$$\begin{aligned} & -e''_n(x) - ke'_n(x) \\ = & \alpha''_n(x) + k\alpha'_n(x) - u''(x) - ku'(x) \\ = & -G(x, \alpha_n(x), \alpha_{n-1}(x)) + h(x, u(x)) + g(x, u(x)) \\ = & -[h(x, \alpha_{n-1}(x)) + \{h_u(x, \alpha_{n-1}(x)) + 2M_1\alpha_{n-1}(x)\}(\alpha_n(x) - \alpha_{n-1}(x)) \\ & - M_1(\alpha_n^2(x) - \alpha_{n-1}^2(x)) + g(x, \alpha_{n-1}(x)) \\ & + \{g_u(x, \alpha_{n-1}(x)) + (1 + \epsilon)M_2\alpha_{n-1}^\epsilon(x)\}(\alpha_n(x) - \alpha_{n-1}(x)) \\ & - M_2(\alpha_n^{1+\epsilon}(x) - \alpha_{n-1}^{1+\epsilon}(x))] + h(x, u(x)) + g(x, u(x)) \\ = & -P(x, \alpha_{n-1}(x)) + P(x, u(x)) - M_1 u^2(x) - M_2 u^{1+\epsilon}(x) \\ & - P_u(x, \alpha_{n-1}(x))(\alpha_n(x) - \alpha_{n-1}(x)) + M_1 \alpha_n^2(x) + M_2 \alpha_n^{1+\epsilon}(x) \\ = & P_u(x, \xi)(u(x) - \alpha_{n-1}(x)) - M_1(u^2(x) - \alpha_n^2(x)) - M_2(u^{1+\epsilon}(x) - \alpha_n^{1+\epsilon}(x)) \\ & + P_u(x, \alpha_{n-1}(x))(u(x) - \alpha_n(x)) - P_u(x, \alpha_{n-1}(x))(u(x) - \alpha_{n-1}(x)) \\ = & [P_u(x, \xi) - P_u(x, \alpha_{n-1}(x))](u(x) - \alpha_{n-1}(x)) - M_1(u(x) + \alpha_n(x))(u(x) - \alpha_n(x)) \\ & - M_2(u(x) - \alpha_n(x))\eta(u(x), \alpha_n(x)) + P_u(x, \alpha_{n-1}(x))(u(x) - \alpha_n(x)) \\ = & [P_u(x, \xi) - P_u(x, \alpha_{n-1}(x))](u(x) - \alpha_{n-1}(x)) \\ & + [P_u(x, \alpha_{n-1}(x)) - M_1(u(x) + \alpha_n(x)) - M_2\eta(u(x), \alpha_n(x))](u(x) - \alpha_n(x)) \end{aligned}$$

$$\begin{aligned}
 &= [P_u(x, \xi) - P_u(x, \alpha_{n-1}(x))]e_{n-1}(x) + [P_u(x, \alpha_{n-1}(x)) - M_1(u(x) + \alpha_n(x)) \\
 &\quad - M_2\eta(u(x), \alpha_n(x))]e_n(x) \\
 &= [h_u(x, \xi) - h_u(x, \alpha_{n-1}(x)) + g_u(x, \xi) - g_u(x, \alpha_{n-1}(x)) + 2M_1(\xi - \alpha_{n-1}(x)) \\
 &\quad + (1 + \epsilon)M_2(\xi^\epsilon - \alpha_{n-1}^\epsilon(x))]e_{n-1}(x) + [P_u(x, \alpha_{n-1}(x)) - M_1(u(x) + \alpha_n(x)) \\
 &\quad - M_2\eta(u(x), \alpha_n(x))]e_n(x) \\
 &= [h_{uu}(x, \sigma)(\xi - \alpha_{n-1}(x)) + g_u(x, \xi) - g_u(x, \alpha_{n-1}(x)) + 2M_1(\xi - \alpha_{n-1}(x)) \\
 &\quad + (1 + \epsilon)M_2(\xi^\epsilon - \alpha_{n-1}^\epsilon(x))]e_{n-1}(x) + [P_u(x, \alpha_{n-1}(x)) - M_1(u(x) + \alpha_n(x)) \\
 &\quad - M_2\eta(u(x), \alpha_n(x))]e_n(x),
 \end{aligned} \tag{13}$$

where  $\alpha_{n-1}(x) \leq \sigma \leq \xi \leq u(x)$  on  $[0, \pi]$  and  $\eta(a, b) > 0$  for all  $a, b$ . Substituting

$$P_u(x, \alpha_{n-1}(x)) - M_1(u(x) + \alpha_n(x)) - M_2\eta(u(x), \alpha_n(x)) = a_n(x)$$

and using the estimate

$$\begin{aligned}
 &(h_{uu}(x, \sigma) + 2M_1)(\xi - \alpha_{n-1}(x)) + g_u(x, \xi) - g_u(x, \alpha_{n-1}(x)) \\
 &+ (1 + \epsilon)M_2(\xi^\epsilon - \alpha_{n-1}^\epsilon(x)) \leq V(\xi - \alpha_{n-1}(x)) \leq V e_{n-1}(x)
 \end{aligned}$$

in (13) gives

$$-e_n''(x) - ke_n'(x) - e_n(x)a_n(x) = V e_{n-1}^2(x) + b_n(x), \quad x \in [0, \pi],$$

$$e_n(0) = e_n(\pi), \quad e_n'(0) = e_n'(\pi),$$

where  $b_n(x) \leq 0$  on  $[0, \pi]$ . Since  $\lim_{n \rightarrow \infty} a_n(x) = P_u(x, u(x)) - 2M_1u(x) - (1 + \epsilon)M_2u(x) = h_u(x, u(x)) + g_u(x, u(x))$  and  $h_u(x, u(x)) + g_u(x, u(x)) < 0$ , therefore, for  $\lambda < 0$ , there exists  $n_0 \in \mathbb{N}$  such that  $a_n(x) - \lambda < 0$ ,  $x \in [0, \pi]$  for  $n \geq n_0$ . Therefore, the error function  $e_n(x)$  satisfies the following problem

$$-e_n''(x) - ke_n'(x) - \lambda e_n(x) = (a_n(x) - \lambda)e_n(x) + V e_{n-1}^2(x) + b_n(x), \quad x \in [0, \pi],$$

whose solution is

$$e_n(x) = \int_0^\pi G_\lambda(x, y)[(a_n(y) - \lambda)e_n(y) + V e_{n-1}^2(y) + b_n(y)]dy.$$

Since  $a_n(y) - \lambda < 0$ ,  $b_n(y) \leq 0$ , and  $G_\lambda(x, y) > 0$  for  $\lambda < 0$ , therefore, it follows that

$$G_\lambda(x, y)[(a_n(y) - \lambda)e_n(y) + V e_{n-1}^2(y) + b_n(y)] < G_\lambda(x, y)V e_{n-1}^2(y).$$

Thus, we obtain

$$0 \leq e_n(x) \leq V \int_0^\pi G_\lambda(x, y)e_{n-1}^2(y)dy,$$

which can be expressed as

$$\|e_n\| \leq V^* \|e_{n-1}\|^2,$$

where  $V^* = V \max \int_0^\pi G_\lambda(x, y) dy$  and  $\|e_n\| = \max\{|e_n| : x \in [0, \pi]\}$  is the usual uniform norm. This completes the proof of the theorem.

REMARK. It is interesting to note that the generalized quasilinearization technique for the PBVP (1)-(2) [21] follows as a special case if we take  $g(x, u) = 0$  in the forcing term of the Duffing equation.

EXAMPLE. Consider the boundary value problem

$$-u''(x) - ku'(x) = e^{a(1-u(x))} - \pi + |u(x)|^2, \quad a > 2, \quad x \in [0, \pi], \quad (14)$$

$$u(0) = u(\pi), \quad u'(0) = u'(\pi). \quad (15)$$

Here,  $h(x, u(x)) = e^{a(1-u(x))} - \pi$ ,  $g(x, u(x)) = |u(x)|^2$ . Let  $\alpha(x) = -1$  and  $\beta(x) = 1$  be lower and upper solutions of (14)-(15) respectively. By choosing  $M_1 > 0$ ,  $0 < M_2 \leq 1$ ,  $\epsilon = 1$ , it can easily be verified that the assumptions  $(A_1) - (A_4)$  of Theorem 3 are satisfied. Thus, the conclusion of Theorem 3 applies to the problem (14)-(15).

ACKNOWLEDGMENT. The authors thank the reviewer for his/her valuable comments and suggestions.

## References

- [1] G. S. Ladde, V. Lakshmikantham and A. S. Vatsala, *Monotone Iterative Techniques for Nonlinear Differential Equations*, Pitman, Boston, 1985.
- [2] J. J. Nieto, Y. Jiang and Y. Jurang, Monotone iterative method for functional-differential equations, *Nonlinear Anal.*, 32(1998), 741-747.
- [3] A. S. Vatsala and J. Yang, Monotone iterative technique for semilinear elliptic systems *Bound. Value Probl.* 2(2005), 93-106.
- [4] Z. Drici, F. A. McRae and J. V. Devi, Monotone iterative technique for periodic boundary value problems with causal operators, *Nonlinear Anal.*, 64(2006), 1271-1277.
- [5] D. Jiang, J. J. Nieto and W. Zuo, On monotone method for first order and second order periodic boundary value problems and periodic solutions of functional differential equations, *J. Math. Anal. Appl.*, 289(2004), 691-699
- [6] J. J. Nieto and R. Rodriguez-Lopez, Monotone method for first-order functional differential equations, *Comput. Math. Appl.*, 52(2006), 471-484.
- [7] B. Ahmad and S. Sivasundaram, The monotone iterative technique for impulsive hybrid set valued integro-differential equations, *Nonlinear Anal.*, 65(2006), 2260-2276.
- [8] A. Cabada and J. J. Nieto, Rapid convergence of the iterative technique for first order initial value problems, *Appl. Math. Comput.*, 87(1997), 217-226.

- [9] V. Lakshmikantham and J. J. Nieto, Generalized quasilinearization for nonlinear first order ordinary differential equations, *Nonlinear Times & Digest*, 2(1995), 1–10.
- [10] R. Bellman and R. Kalaba, *Quasilinearization and Nonlinear Boundary Value Problems*, Amer. Elsevier, New York, 1965.
- [11] J. J. Nieto, Generalized quasilinearization method for a second order ordinary differential equation with Dirichlet boundary conditions, *Proc. Amer. Math. Soc.*, 125(1997), 2599–2604.
- [12] V. Lakshmikantham and A. S. Vatsala, *Generalized Quasilinearization for Nonlinear Problems*, *Mathematics and its Applications*, 440, Kluwer Academic Publishers, Dordrecht, 1998.
- [13] A. Cabada and J. J. Nieto, Quasilinearization and rate of convergence for higher order nonlinear periodic boundary value problems, *J. Optim. Theory Appl.*, 108(2001), 97–107.
- [14] V. B. Mandelzweig and F. Tabakin, Quasilinearization approach to nonlinear problems in physics with application to nonlinear ODEs, *Comput. Phys. Comm.*, 141(2001), 268–281.
- [15] B. Ahmad, J. J. Nieto and N. Shahzad, The Bellman-Kalaba-Lakshmikantham quasilinearization method for Neumann problems, *J. Math. Anal. Appl.*, 257(2001), 356–363.
- [16] B. Ahmad, J. J. Nieto and N. Shahzad, Generalized quasilinearization method for mixed boundary value problems, *Appl. Math. Comput.* 133(2002), 423–429.
- [17] S. Nikolov, S. Stoytchev, A. Torres and J. J. Nieto, Biomathematical modeling and analysis of blood flow in an intracranial aneurysms, *Neurological Research*, 25(2003), 497–504.
- [18] B. Ahmad, A quasilinearization method for a class of integro-differential equations with mixed nonlinearities, *Nonlinear Anal. Real World Appl.*, 7(2006), 997–1004.
- [19] B. Ahmad and J. J. Nieto, Existence and approximation of solutions for a class of nonlinear impulsive functional differential equations with anti-periodic boundary conditions, *Nonlinear Anal.*, 69(2008), 3291–3298.
- [20] M. H. Pei and S. K. Chang, The generalized quasilinearization method for second order three point boundary value problems, *Nonlinear Anal.*, 68(2008), 2779–2790.
- [21] A. Alsaedi, Unilateral monotone iteration scheme for a forced Duffing equation with periodic boundary conditions, *Appl. Math. E-Notes*, 7(2007), 159–166.